INDIAN SCHOOL AL WADI AL KABIR
DEPARTMENT OF MATHEMATICS (2022-2023)

PRE-MIDTERM EXAM REVISION WORKSHEET

RESOURCE PERSON: Ms. Bandana Thakur

NAME: CLASS: VvV SEC.: DATE:
Read the instructions and do as directed. )G00D
o
I) Read the questions carefully and circle the correct option. W

1) Which of the following numbers will be read as Three hundred ninety-eight thousand
five hundred forty?

(a) 398,514 (b) 398,540 (c) 389,540 (d) 389,514

2) What is the Place Value of 9 in 9,078,210?

(a) 9,00,000 (b) 90,00,000 (c) 900,000 (d) 9,000,000

3) Which of the given humbers comes just after 3,09,9997

(a) 3,10,000 (b) 3,99,999 (c) 3,10,999 (d) 4,10,999

4) Which of the given answers will you get, if you round off 35,098 to the nearest 100?
(a) 35,100 (b) 36,000 (c) 35,090 (d) 36,100

5) 2,90,000 + 10,000 =

(a) 2,80,000 (b) 3,00,000 (c) 3,90,000 (d) 3,80,000
6) 40,000 — 5,000 =
(a) 45,000 (b) 40,500 (c) 35,000 (d) 30,500

7)75+ 25+ 100 =

(a) 175 (b) 200 (c) 300 (d) 275
8) 2453 - 1217 = 1236, then 1236 + 1217 =

(a) 1236 (b) 1217 (c) 2453 (d) 3670
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ITI) Do as instructed.
1) Arrange the given numbers in descending order.

25,23,567; 25,32,567, 25,32,657, 25,23,765

2) Write 7,89,30,201 in its Expanded Form.

3) Write the numeral for the given Expanded Form.

3,00,00,000 + 50,000 + 3,000 + 30 + 7

4) Compare the given numbers using >, < or =.

a) 97,090,205 97,009,205

b) 24,80,009 24,08,900

5) Build the greatest and the smallest possible 7-digit numbers using the digits
2,0,4,6,7,9,1. (Don’t repeat the digits.)

Greatest Number

Smallest Number

6) Match the given numbers to the correct number name.

NUMBER NUMBER NAME

a) 6,891,735 | (i) Seven million three hundred twenty thousand five hundred twenty-two

b) 73,20,522 | (ii) Sixty -eight lakh ninety-one thousand seven hundred thirty-five

c) 7,320,522 | (iii) Six million eight hundred ninety-one thousand seven hundred thirty-five

d) 68,91,735 | (iv) Seventy-three lakh twenty thousand five hundred twenty-two

Ans: (a- ; b- ; C- ;d- )
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7) Read the word problems carefully and identify the operation that you should use
to find the correct answer. Put the correct sign (+ or =) in the box.

a) A car company manufactured 30,450 cars in 2020 and 45,900 cars in 2021. How many cars
did it manufacture in both these years?

b) Suma bought a computer and a printer for X 76,820. If the cost of the computer is ¥ 54,000,
what is the cost of the printer?

8) Arrange the following numbers and find their sum.

4,89,002 + 2,12,382 L TTTHiTn T lo

9) Arrange the given numbers and find the difference.
L [TTH/TH H |[T |O

3,50,000 — 1,28,785

10) Solve the word problem given below.

The population of Town A is 2,89,500 and the population of Town B is 2,98,345. Which
town has a greater population and by how much?
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